REDROCK

TAILGATE MOLLE PANEL

(2021-2023+ BRONCO)

INSTALLATION INSTRUCTIONS

CONTENTS TOOLS REQUIRED

(1) Molle Panel T-45 Torx Socket

(2) Mounting Brackets 5mm, 6mm Allen Sockets/Keys
(4) M8x1.25 x 50mm Allen Bolts Ratchet

(4) M8 Lock Washers Masking Tape

(4) M8 Flat Washers Permanent Marker

(4) M6x1.00 x 15mm Allen Bolts Razor Blade

(4) M6 Lock Washers

(4) M6 Flat Washers

SKU # FB24847
Edited: 12/08/2022



REDROCK

STEP1

Remove the spare tire from the vehicle following OEM spare tire removal procedure.

Apply masking tape to the upper and lower corners of the tailgate. Draw (2) horizontal lines
across the tape ensuring overlap of the body panels. Use a razor blade and carefully cut the tape
down the body line, this will assist tailgate alignment during assembly. Wedging a soft block
in-between the bumper and the tailgate can prevent the tailgate from lowering.

STEP 2

Remove (2) T-45 Torx bolts from each of the tailgate hinges.

Note: Do not open the tailgate with the hinges unbolted.



REDROCK

STEP 3

Using (4) M8x1.25 x 55mm Allen bolts, (4) M8 lock washers, and (4) M8 flat washers, secure the (2)
mounting brackets to the vehicle hinges. Use the molle panel as a guide to ensure the bolt holes
on the panel align to the mounting brackets, then tighten the brackets into place.

STEP 4

Secure the molle panel to the mounting brackets using (4) M6x1.00 x 15mm Allen bolts, (4) M6 lock
washers, and (4) M6 flat washers.

Note: The molle panel is directional, ensure the panel is the correct orientation for proper alignment.



REDROCK

STEP 5

Re-install the spare tire to the vehicle following OEM spare tire installation procedure.

Installation is now complete.



	FB24847 - RedRock - Tailgate Molle Panel (21+ Bronco)-01
	FB24847 - RedRock - Tailgate Molle Panel (21+ Bronco)-02
	FB24847 - RedRock - Tailgate Molle Panel (21+ Bronco)-03
	FB24847 - RedRock - Tailgate Molle Panel (21+ Bronco)-04

